




The least number which when divided by 4, 5, 6 and 7 leaves 3 as remainder, but when 

divided by 9 leaves no remainder is ?

सबसे कम संख्या जिसे िब 4, 5, 6 और 7 से जिभाजित जकया िाता है, तो शेषफल के रूप में 3 बच िाता 

है, लेजकन िब इसे 9 पजियों से जिभाजित जकया िाता है तो कोई शेषफल नहीं होता है?

a) 864

b) 423

c) 848

d) 432



R saves 20% of his income. If his expenditure increases by 12 1/2% and his income 

increases by 27%, his savings increase by?

R अपनी आय का 20% बचाता है। यजि उसका व्यय 12 1/2% बढ़ िाता है और उसकी आय में 27% की 

िजृि होती है, तो उसकी बचत में जकतनी िजृि होती है?

a) 82.5%

b) 85%

c) 16%

d) 17%



When a plot is sold for 18,700rs, the owner loses 15%. At what price must that plot be 

sold in order to gain 15%?

िब एक प्लॉट को 18,700 रुपये में बेचा िाता है, तो माजलक को 15% का नुकसान होता है। 15% लाभ 

प्राप्त करने के जलए उस भूखंड को जकस मूल्य पर बेचा िाना चाजहए?

a) Rs. 21,000

b) Rs. 22,500

c) Rs. 25,300

d) Rs. 25,800



By giving 25% discount a trader earns 25% profit. If he sells the item at 10% discount, 

what is the profit? 

25% छूट िेकर एक व्यापारी 25% लाभ कमाता है. यजि िह िस्तु को 10% छूट पर बेचता है, तो लाभ क्या 

है?

a) 10%

b) 40%

c) 45%

d) 50%



The ratio of the amount invested and the amount received is 5:8 in 5 years at SI. Find the 

rate of interest ?

जनिेश की गई राजश और प्राप्त राजश का अनुपात SI पर 5 िषों में 5: 8 है। ब्याि की िर ज्ञात कीजिये?

a) 10

b) 12

c) 15

d) 20



If a sum of 23,800rs is invested at 10% interest compounded annually for 2 years, what 

will be the total amount payable on maturity?

यजि 23,800 रुपये की राजश को 2 िषों के जलए िाजषिक रूप से 10% चक्रिजृि ब्याि पर जनिेश जकया 

िाता है, तो पररपक्िता पर िेय कुल राजश क्या होगी?

a) Rs. 28,878

b) Rs. 28,798

c) Rs. 29,788

d) Rs. 28,978



The average weight of 25 students of section A of a class is 60 kg, whereas the average 

weight of 35 students of section B of the same class is 62.5 kg. Find out the average 

weight of all the 60 students of the class ?

एक कक्षा के अनुभाग A के 25 छात्रों का औसत ििन 60 जकलोग्राम है, िबजक समान कक्षा के अनुभाग B 

के 35 छात्रों का औसत ििन 62.5 जकलोग्राम है। कक्षा के सभी 60 छात्रों का औसत ििन ज्ञात कीजिये?

a) 60.5

b) 62.2

c) 61.2

d) 61.46



Three friends A, B, C invested in a business in the ratio of 3 ∶ 2 ∶ 6. After 6 months C 

withdraw half his capital. If the total profit earned for the year is Rs.53010 (in Rs.).Then 

Profit made by A is ?

तीन जमत्रों A, B, C ने एक व्यिसाय में 3 : 2 : 6 के अनुपात में जनिेश जकया। 6 महीने के बाि C अपनी आधी पंूिी 

जनकाल लेता है। यजि िषि के जलए अजिित कुल लाभ 53010 रुपये (रुपये में) है। तो A द्वारा अजिित लाभ क्या है?

a) 16740

b) 19740

c) 17740

d) 18740



If 8 men or 12 women can do a piece of work in 25 days, in how many days can the same 

work be done by 6 men and 11 women?

यजि 8 पुरुष या 12 मजहलाए ंएक कायि को 25 जिनों में कर सकते हैं, तो उसी कायि को 6 पुरुष और 11 

मजहलाए ंजकतने जिनों में पूरा कर सकती हैं?

a) 12 days

b) 13 days

c) 15 days

d) 18 days



A car takes 5 hours to cover a distance of 300 km. How much should the speed in km/hr

be maintained to cover the same distance 4/5th of the previous time? 

एक कार 300 जकमी की िूरी तय करने में 5 घंटे लेती है. जपछली बार की समान िूरी 4/5 को तय करने के जलए 

जकमी/घंटा में गजत जकतनी बनाए रखी िानी चाजहए?

a) 70 km/hr

b) 65 km/hr

c) 75 km/hr

d) 60 km/hr



Given 2x = 8y+1 and 9y = 3x-9, the value of x + y is 

a) 21

b) 18

c) 24

d) 27



What is the sum of the digits of the least number, which when divided by 15, 18 and 27 

leaves the same remainder 9 in each case and is also completely divisible by 11?

सबसे कम संख्या के अंकों का योग क्या है, जिसे िब 15, 18 और 27 से जिभाजित जकया िाता है, तो 

प्रत्येक जस्िजत में समान शेषफल 9 रह िाता है और यह 11 से पूरी तरह से जिभाज्य भी होता है?

a) 1

b) 18

c) 12

d) 20



The weights of two friends R and S are in the ratio of 4 : 5. R's weight increases by 20% 

and the total weight of R and S together becomes 82.8 kg with an increase of 25%. By 

what percent did the weight of S increase?

िो जमत्रों R और S के ििन का अनुपात 4: 5 है। R का ििन 20% बढ़ िाता है और R और S का कुल ििन 

25% की िजृि के साि 82.8 जकग्रा हो िाता है। S का ििन जकतने प्रजतशत बढ़ गया?

a) 29

b) 30

c) 31

d) 21



At what percent of simple interest per annum will Rs. 8000 amount to Rs. 12600 in five 

years?

8000 रुपये प्रजत िषि साधारण ब्याि के जकतने प्रजतशत से पांच िषों में 12600 रुपये हो िाएगा?

a) 11%

b) 11.5%

c) 12%

d) 12.5%



R invested a sum of 800rs in a post office for 3 years at 5% compound interest compound 

annually. How much money will she get at the end of 3 years?

R ने एक डाकघर में 3 िषों के जलए 5% चक्रिजृि ब्याि पर 800 रुपये की राजश का जनिेश जकया। 3 िषि के 

अंत में उसे जकतनी राजश जमलेगी?

a) Rs. 910.70

b) Rs. 931.20

c) Rs. 926.10  

d) Rs. 824.30



The average age of A, B, and C five years ago, was 24 years. The average age of B and C 

six years ago was 19 years. What will be the age of A 13 years from the present?

पांच साल पहले A, B और C की औसत आयु 24 िषि िी। छह साल पहले B और C की औसत आयु 19 िषि िी। 

A की आयु ितिमान से 13 िषि से क्या होगी?

a) 37

b) 58

c) 50

d) 59



Two pipes can fill a cistern separately in 20 minutes and 40 minutes respectively and a 

waste pipe can drain off 35 gallons per minute. If all three pipes are opened, the cistern 

gets filled in an hour. What is the capacity of the cistern?

िो पाइप क्रमशः 20 जमनट और 40 जमनट में एक टंकी को अलग-अलग भर सकते हैं और एक अपजशष्ट पाइप 35 

गैलन प्रजत जमनट जनकाल सकता है। यजि सभी तीन पाइप को खोल जिया िाता है, तो टंकी एक घंटे में भर िाती है। 

टंकी की क्षमता क्या है?

a) 500 gallons

b) 600 gallons

c) 750 gallons

d) 800 gallons



A man takes 6 hours 30 minutes in going by a cycle and coming back by scooter. He 

would have lost 2 hours and 10 minutes by going on cycle both ways. How long would it 

take him to go by scooter both ways?

एक आिमी को साइजकल से िाने और स्कूटर से िापस आने में 6 घंटे 30 जमनट लगते हैं. िह िोनों तरफ से 

साइजकल पर िाने से 2 घंटे और 10 जमनट खो िेता। उसे िोनों तरफ से स्कूटर से िाने में जकतना समय लगेगा?

a) 4 hrs., 20 minutes

b) 8 hrs., 40 minutes

c) 13 hrs.

d) 5 hrs., 20 minutes



Three partners A, B and C invest a total sum of 42000rs. At the end of the year A gets 

21200rs, B gets 31800rs and C gets 26500rs as profit. How much amount is invested by A 

and C together (In Rs) ? 

तीन साझेिार A, B और C कुल 42000 रुपये की राजश का जनिेश करते हैं। िषि के अंत में A को 21200 रुपये, B 

को 31800 रुपये और C को 26500 रुपये का लाभ जमलता है। A और C द्वारा एक साि जकतनी राजश जनिेश की 

िाती है (रुपये में) ?

a) 27200

b) 25200

c) 28200

d) 26200



If the population of a town is 1,21,000 and it grows at a rate of 10% per year, what will 

the difference between the population of the town three years from now and the 

population of the town two years ago?

यजि एक शहर की िनसंख्या 1,21,000 है और यह प्रजत िषि 10% की िर से बढ़ता है, तो आि से तीन साल बाि 

शहर की िनसंख्या और िो साल पहले शहर की आबािी के बीच का अंतर क्या होगा?

a) 14641

b) 40,051

c) 13,310

d) 61,051


